
Direct Proportion 

Question General Equation Find 𝒌 New Equation 
Find Value  

using Equation 

𝐴 is directly proportional to 𝐵2, 

when 𝐴 = 45, 𝐵 =  3. 

Find 𝐴 when 𝐵 = 7 

𝐴 = 𝑘 × 𝐵2 
45 = 𝑘 × 32    

so   𝑘 = 5 
𝐴 = 5𝐵2 

𝐴 = 5 × 72 

𝐴 = 245 

(a)  𝑦 is directly proportional to 

𝑥2, and 𝑦 = 270 when 𝑥 = 3. 

Find 𝑦 when 𝑥 = 5 

    

(b)  𝑁 is directly proportional 

to 𝐿3, when 𝑁 = 1280, 𝐿 = 4. 

Find 𝑁 when 𝐿 = 3 

    

(c)  𝐴 is directly proportional to 

√𝐵 and when 𝐴 = 90, 𝐵 = 9. 

Find 𝐴 when 𝐵 = 25 

    

(d) 𝐴 is directly proportional to 

𝐵2 and when 𝐴 = 8, 𝐵 = 4. 

Find 𝐴 when 𝐵 = 0.5 

(e) ℎ is directly proportional to 

√𝑤 and ℎ = 15 when 𝑤 = 4. 

Find ℎ when 𝑤 = 64 

(f) 𝐴 is directly proportional to 

𝑉3and when 𝐴 = 400, 𝑉 = 2. 

Find 𝑉 when 𝐴 = 6250 

(g) 𝑦 is directly proportional to 

√𝑥
3

. When 𝑥 = 8, 𝑦 = 64. 

Find 𝑥 when𝑦 = 128 

    

 


